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Question Number : 1 Question Id : 1874634961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Choose the correct set of taxonomic words belong to the given statements

I) Taxononuc category showing mdividual organisms with fundamental simullarities

II) Taxonomic category with same hierarchial status

a) Dicotyledonae b) domestica ¢) indica
d) Insecta e) Mangifera f) sapiens
g) Mammaha h) Monocotyledonae 1) valgare
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Question Number : 2 Question Id : 1874634962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Organisms of Monera having psendomurein in cellwalls are producers of
biogas

Reason (R):  Archaebactena present in the gut of ruminants animals produce methane
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Choose the correct statement
I)  Like fossil plants Pongamia produce petrol due to the presence of hydrocarbons

) Acolla, Nestoc and Anabaena help m recycling of nutnients by saprophytic mode of
nutrition

) Chorella is a single cell protein

V)

Branch of Botany deals with the study of different tissues and internal details of plant
organs s Morphology
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Choose correct pair from the following
I)  Promary producers
II) Specific water requirement for

fertilization of Pteridophytes

) Growth of young embiyvo in female
gametophvte

IV) Colonization of mosses and
Lichens on rocks
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Choose the correct matches

ListA
A)  Viscum
B) Banana
C) Zineiber

D) Rhizophora
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Rhizome
Poneumatophores
Haustanal roots

sde C

wOS JwE),
57030y

g Sotd Poe

SFOEr I

collegedunia

—



Choose mcorrect statements

I)  Trap leaves supply nitrogen to Nepenties plant

II) Grape vines differ from watermelon by having tendrils developed from axillary bud
) Balancing roots of Eichornia anise from horizontally growing lateral branches

IV) Gall flowers of Ficus store eggs of Blastophagua
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Identify the respective formula of the gynoecium from which fruits like Berry. Pepo,
Hesperedium and Pome are developed
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Question Number : 8 Question Id : 1874634968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Features which are highly unmique to angiosperms

I)  Mulucellular. nmch reduced and dependent gametophyte

II) Siphanogamous fertilization

II) Fusion of male gametes with egg cell and secondary nucleus
IV) Development of ovule into seed
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Question Number : 9 Question Id : 1874634969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An apple showing monosporic type of embryosac development assumed to develop a fruit
with 12 seeds. Find out the No. of chromosomes present in megaspore mother cell.
functional megaspores. egg cells. synergids. antipodals. zvgote and PEN
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Question Number : 10 Question Id : 1874634970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A):  Cleistogamous flowers produce assured seed set in the absence of

pollinators
Reason (R) : Cleistogamy 1s invanably an Autogamy
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Choose the correct set of plants showng the followmng feamres

A)  Medicinally important plant and a tendrillar climber with unisexual flowers

B) Spice yielding plant with cymose inflorescence. persistant calyx. unilocular ovary
C)  Oil seed plant with monadelphous stamens. unilocular ovary and indehiscent pod
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Select the incorrect statements from the following

I) Inplasmamembrane hydrophilic polar heads of lipids arrange towards the outside and
the hydrophobic tail towards the imnerside

) In plasmamembrane peripheral proteins lie on the surface of membrane while the
mtegrated proteins are buried in the membrane

IT) Nenutral solutes may move across the membrane by the process of sitmple diffusion
against the concentration gradient

IV) Polar molecules can pass through the non-polar lipid bilayer and do not require a
carrier proteins
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Arrange the following in ascending order based on the aspects given below
a) No. of anms present in chromosome where the centromere 1s terminal
b)  Total No. of histone proteins present mside the nucleosome

¢) No. of histone proteins help to seal the DNA near the core

d) No. of H2 proteins in a nucleosome
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Choose the correct statement

I)  Secondary metabolites donot have identifiable physiological processes in plants.
fungal and microbial cells

II) Bio macromolecules are acid msoluble organic compounds with mol wt more than
10.000 daltons

M) Undylc acid and cytidylic acids are derived from uracil and cytosine by estenfication
IV) Lecithin and lectin are phospholipids found in cell membrane
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Arrange the following events of nutotic cell cycle in series

a) Reformation of nucleolus, golgi complex and ER

b)  Amount of DNA per cell doubles

¢) Disappearance of golgi complex and ER

d) Condensation of chromatin into chromosome

e) Distribution of mitochondria and plastids to daughter cells
f)  Seperation of chromatids at centromers
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In prophase I of meilosis. synaptonemal complex is formed between
I)  Pair of homologous chromosomes

II) Tetrad of chromatids

IT) Bivalent chromosomes

IV) Recombmation modules of non sister chromatids
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In primary structure of protein. the protein thread showed helix with four amuno acids
S - C - Y - E and a napthalene structure in aminoacid Y. In such condition what will be
the direction of helix and what are the positions of amino acids
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From nght to left Sermne - Tyrosme - Glutanuc acid - Cystem
58 500 G BBS - BEDS - KErDE LS - HhH%
From left to right Glutamic acid - Tyrosine - Cystein - Serine
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S8 00D G BhSo - HErDHE esn - BFRS - 58S
4
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Single Line Question Option : No Option Orientation : Vertical

Choose the correct statements

A) Incucurbits. phloem is present on either side of xylem and separated by cambium
B) Impermeability of water in epidermus is due to subnn deposition

C) Parenchyvmatous conjunctive tissue 1s present between protophloem and metapholem
D) More stomata present on abaxial side than adaxial side 1n a dorsiventral leaf
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Question Number : 19 Question Id : 1874634979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Reasons responsible for leaf roll in monocot leaf
I)  Turgid nature of bulliform cells under water stress
) Flaccid state of bulliform cells under water stress
M) More water absomption by bulliform cells during stress

IV) More water loss in bulliform cells during water stress

-

-

SEGY De BIBHW THOID DwFhbR SFrESE sl

) 8 @ono S0IHG. wdPD Swrer SR $9Hodk
I o8 @600 WY PP Sorw IWReY Bodd

M) GHévo IR, woTFL Sered RS G Lol

IV) Sdse H0HHS wOFTo By J80.3 83 Fa \dLo
& - - ir -

]

Options :

 I&T

&IV

L

I&IO

H&I

Question Number : 20 Question Id : 1874634980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

-

—

collegedunia:

India’s largest Student Review Platform



Reason for extensive distribution of monocotyledons plants like wheat, maize and barley

on the earth’s surface are

I)  Equal distribution of water and air in the habitat

II) Adaptation fo excessive water and extensive dryness
IIT) Do notshow adaptation to extensive dryness

IV) Grow i excessive water and extensive dry areas
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Arrange the given events that occur in phleom for removal of water from phloem to xylem
I) Incoming sugars are actively transported out and removed as complex carbohydrate
I0) Increase of water potential

II) Increase of hvdrastatic pressure in seive tubes

IV) Transport of water i to sieve fubes by osmosis
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Mention the No. of given physiclogical activities of plant have been essentially controlled
by Zinc. Boron. Sulphur and Calcium respectively

a)  Synthesis of auxin b) Photolysis of H,O

¢) Methionine constifuant d) Stability of protein

e) Uptake of calcium f)  Regulation of metabolic activities
g) Pollen germination h) Cell elongation

1) Cell difterentiation
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Respective products released along with mam product in biochemucal reactions catalysed
by given enzymes

A)  Glutamine synthetase I) NADH+H

B) Fructose 1. 6 bisphosphatase ) ADP+Pi

C) Hexokiase II) Inorganic phosphate
D) Malate dehvdrogenase IV) ADP
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Assertion (A): Duning photophosphorylation protons are transported across the membrane
and accumulated inside the lnmen

Reason (R):  To develop proton gradient Pheophytin transfers electrons to hydrogen
cammers mstead of electron carries
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Number of given forms of phosphate 1ons released during the synthesis of 10 glucose
molecules m calvin cycle 1n series

a) Inorganic phosphate b) H,PO, ¢) ADP
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40. 120. 180
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Question Number : 26 Question Id : 1874634986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arrange the given reactions occur in electron transport in correct sequence

I) Oxygen — Removes H,fromETS  — Receives electrons form ETS

) Ubiqummone — Oxidized fromubiqunol — Receives reduced equivalents
from FADH,

II) CytCoxidase — Reduced by cytochrome C — Electron donor for O, to release
H,0

IV) Cytochrome C — Mobile cammer — Transfer e~ fromcytbtocytc
oxidase
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Formation of interfascicular cambium and cork cambium from parenchyma is
phenomenon of
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Observe the given set of physiological activities regulated by different plant growth
regulators and list out no. of activities promoted by Auxins, Cytokinun Gibberllin and Ethylene
respectively

a) Xylem differentiation b) Improvement of shape of apple
c) Hastening the apple npening d) Delay of senescence
e) Promote nutrient mobilization f)  Lateral and adventitious shoot growth

2) Root growth and root hair formation h) Increase of root absorption surface
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Question Number : 29 Question Id : 1874634989 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Find out the correct combination based on the methods of genetic matenial exchange occur
in Bacteria

A) F plasmid passes from donor cell Retainment of the copy of genetic
to recipient cell material by the donor

B) Uptake of naked DNA fragments Acquining new characters by the
from the surrounding environment recipient cell

C) Production of genetically identical cells Transformation

D) Transfer of genetic matenial through Transduction
bacteriophages

iboirer vl aligherd Do BEchy srdor & Bod TG SOES 2dod
B0 (0080

A) Fans cdteo 08 (i T GBoEs HIRHEEY S
L N EETATY I Ty S Y Sotood

B) Teidmo od S DNA godsod PWordtmo §'4 ofrod Jrodod
ﬁ}s.‘;'{}m:iaé.a

C) =alSogrdrdgd SONS Sarods JHDDHY 505850
D) = 0SrFE oo 2dginy wbd BgiESo

Options :

; AB.C

A.B.D
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Question Number : 30 Question Id : 1874634990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the nusmatch Bacteria i the given list

& Bod TS J0SriY i0r

Options :
Xanthomonas orvzae
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Xanrthomonos oxanopodis pv citr
| TOTIArTR &) SIGe pyv o
Agrobacterium tumefacience
e oAb g DRADS)
3
Bdellovibrio bacteriovorus

BSAOBr 0SS
4

Question Number : 31 Question Id : 1874634991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A round seeded tall pea plant 1s crossed with round seeded dwarf plant and obtained progeny
are with following phenotypes

3 - Tall. Round

3 - Dwarf. Rounded

1 - Tall. Wrinkled

1 - Dwarf. Wrinkled

oEs JgTo 8@ T FEBS wod I Dol ddTodE T IE
womed JooH),S DoEdmo JArch. & Soldmo Sud G S088 G)igdrdw & 80b
Q50T Gob

3 - a3, oo

3-8, oyo

1 - 269, sy

1 - 8. Sudow

Find he genotypes of the parent plants involved in the above cross

E WoEG06S" AVRBrNoUs 258 Z‘:-.n*s‘z’ﬂ m&iaad:'é‘m S ST S v

Options :
, TTRR « #RR
) TRR = ttRR
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: TIRR ~ ttRr

4 TtRr« tfRr

Question Number : 32 Question Id : 1874634992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct statement

I)  Alleles are unable to blend with other

) Alleles are units of mhieritance and are slightley differ from the same genes
II) Mendels laws did not provide any proof for the existance of genes

IV) Genes are independent pairs seggregate independent of each other

& 1508 TS" J0GS T g Hfohd
) ol Jsumw LEORE i8S idosY
) ol Jfonyes wdols Parmrw FRIS Sgogdw §ONS 2Woghw
I) JoodS SMges aRgIe $IE8 Sonofoid Jtododl ugrorw drhodBEdFaira
IV) adgdes Sssogom Gpisrod udan 5JS aSogh@iBdn Kdo@om Golood
Options :
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Question Number : 33 Question Id : 1874634993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

There are 1998 bases m RNA that codes 666 anuno acids and the base position at 901 1s
deleted such that the length of the RNA becomes 1997 bases. The number of codons
altered are

1998 S@g=d gow §95 RNA 666 euSsszos 65 Sigod 901 $ Fsos® Hi)
O30 Fohidonaddc RNA &8y 1997 S grorwomr Hob. & %&5‘ s.'u-dojs'o
eﬁ‘;‘ﬁcﬁag ?a*sf;_::
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Question Number : 34 Question Id : 1874634994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A student grew virus in three different media containing P, $* and DNAase seperately
and allow these virus to attack to £.Co/i. The series of observation made by the students are
as follows

a) P* labeled phage particles were produced in £ Coli

b) S containing phage paticles were produced £ Coli

¢)  Phage particles were not observed i E.Col

d) P*?was not observad in phage particles produced by £.Coli

e)  S¥¥was not observed in phage particles produced by E Coli

=8 Dogd PP, SP Hhoctin DNase w §95 D808 cirdiod” BRolk Wod, & 3¢Bul
E.Coli 06 SodoohBeds. elydkh & Bdrhos” Jogh 368 H0dudes &d&om
Golon

a) ¢.85'0¢" P Owd Tchudd Ff Imvhw IFdeman
b) &3S SPBend DobndS FE TawHen A deran
c) FBS FE TenPeo INEY

d) &.5FBG ST & TuHos' PR Goldd

e) .5BS ol PE TwHos* 7 sods

The correct observations are

W 2500% iToNLI

Options :
; a.b.c
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Question Number : 35 Question Id : 1874634995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Expression of gene regulation results in

aiugdplsdn Jolo@n HOSIW
Options :
Development and differentiation of embryo into adult

Dodo eD5R IESTo Bod PELIT SrH&ed

Cummulative impact on metabolic. physiological and environmetal conditions

25 8udy, 908 SGyhidoh S LoHTeD JudE Gerde Wrpsod

-2

Formation of polypeptides

FO G bo}c&a‘m

o
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Synthesis of set of operator and repressor proteins

s’

s5BL6 DO RIS &b doihond

Question Number : 36 Question Id : 1874634996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of genes for protemn mvolved mn plasmid replication rop codes. Or1. restriction
sites, Antibiotic resistance genes present in £ Coli. cloning vector pPBR3221s

SL&T SRol &rso pBR322 &° Fd ©BE5)8E sIudd Th Scierw. On. OZES
SO0, woliacirls TGS adbsdo L8
Options :
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Question Number : 37 Question Id : 1874634997 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following Lists
List-1
Ay Ampicillin resistance
B) Transfer rDNA through infection
C) Disruption of fungal cell wall
D) Insertion of IDNA in the coding
segence of enzyme

& $0h VESON zIJTHSW
o da -1
A) woBBOS HTEE
B) o0 Sogim dgvod* rDNA &
e3uns'E SITL
C) 300 Zdddin 50NchHis
D) 1DNA Qogdne aa:‘fug:.‘m?éué"&g

ﬁ'fb_‘}uﬁéu

The corract answer 15
'é&@:::ﬁ DOPT N0

Options :

A B C D

I I VvV 0

List-T11
I) Clutinase
II) Insertional inactivation
II) Selectable marker
IV) Chimeric DNA

V) Disarmed pathogen vector

e - 11
) 3838
) WIS 2TE3ES
I Jo%8 Boddi 6,5
IV) Q85¢ DNA

V) 880 S8 TdEse
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Question Number : 38 Question Id : 1874634998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A):  ¢7v 1s msect group specific gene of cotton

Reason (R) : c1v I4c and civ I145 control the cotton boll worms
ISH0 (A): o osssh $LE SHed 9GS SrD (B8 BwE), 2Sigd
sddn (R): cry Idc H5300330 cry HI4b ©58D |$85 6 93 Hoarwds
OIS OIEN O
Options :

(A) 1s correct (R) 1s comrect (R) 1s correct explanation to (A)

(A) 5650858 (R) 5066358 (R) 050858 (A) & S80S IS5
1

(A) 1s correct (R) 1s correct. (R) is not correct explanation to (A)

, (A) $0@088 (R) #0805 (R) 6iSs (A) % H0g0S 580 &

(A) 1s correct (R) 1s false
; (A) B0GRSE (R) S0G00 s

(A) 1s false (R) 1s correct

, (A) 560050 760 (R) B0 G50

Question Number : 39 Question Id : 1874634999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Choose the correct combinatoms

I}  Pusa swarmim-Brassica-White rust resistance
) Pusa gaurav-Brassica-Fruit borer resistance
III) Pusa Sawanm-Bhindi-Fruit borer resistance
IV) Pusa sadabahar-Chilli-Leaf curl resistance

& Sol TAS" H0GS FOSww Mfovdw

D Ty SO - @wws - Bud VoRb Bhws IT'eEs
) > S - s - Huo §98 3w ITEsS

) IS ST - Tod - Jovo 08 3oy AG'GES

IV) Td 3098 - D83 - sRSuds IGJES

Options :

| LILII

LILIV
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3 LIOLIV

s LILTLIV

Question Number : 40 Question Id : 1874635000 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The set of commercial and industrial products of non bactenal origin

rf0ahdd drdHe Hod w8 Tohads Fdag e FOEFWE o
PSS G0
Options :
Citric acid. acetic acid. lipase
1 SIE sioBn, IHBUE e, Tod

Citric acid. acetic acid. butyric acid
| DEF wldon, JRE esifyioo, woglibl esidyiioo
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Ethanol. citric acid. cyclosporin-A

—— B Py antflef - S
, RETo, VEF sdoln. PEFHOS-A

Statin. acetic acid. ethanol

TEE, IVEE vRbn, aGTw
: 3

Zoology
Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 1874635001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Sub species shows minor variations from parent population

Reason (R):  Sub species 1s reproductively 1solated population of a species
J#Hso (A): S5 SS™ EJhoo 2858 sTed a”fé?jé VIO ST U0 VuBloF oUW

hG JSES DodN =TT SHTE

) S

s8mo (R): OS" |SH
Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) 58050 (R) o Bodkr HSEGLSD S0k (R) B8 (A) & 506305 DS5ds
l
Both (A) and (R) are correct but (R) 1s not the comrect explanation of (A)
(A) $0050 (R) e Bodr $6GND & (R)&B0 (A) § $0@08 Jd6m 5

|-

(A) 1s correct but (R) 1s not correct

(A) S0GE8 570 (R) S0GB0ss 578

(A) 1s not correct but (R) 1s correct

(A) 586358 & 5 (R) $06G0S8

Question Number : 42 Question Id : 1874635002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : Skeletal muscle fibre is in syncynal state
Reason (R): It is formed by fusion of cells

Sdo (A): w8080 SohY WIS JBS' Godnod
s0m0 (R): ©b& Soros Soddrddo So Jédeed

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(A) 2003» (R) w0 Bodr J0GRD 500w (R) w38 (A) S 50888 D6

Both (A) and (R) are correct but (R) 1s nof the comrect explanation of (A)
(A) %0asn (R) &0 Bokr $005D 52 (R) ©36 (A) & $63:8 D6 £

|-

(A) 1s correct but (R) 1s not correct
(A) 506356 50 (R) 65358 58

(A) 15 not correct but (R) 1s correct

(A) 5053556 57 7R (R) H0T086

Question Number : 43 Question Id : 1874635003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following statements

A)  Compound epithelium forms the limng of the larger pancreatic ducts as stratified
cuboidal epithelm

B) Cartilage 1s a vascular tissue surrounded by fibrous connective tissue sheath called
perichondrnum

C) Gap junctions in cardiac muscles permit electnical impulses to be conducted rapidly
D) Myelenated nerve fibres are found in grey matter of the central nervous system

Bol woTw eigoiio Buked

A) Docing ¢IEY Flo BwE), DY Tvo SHO Sudy wilod J8Y T EY
SOBFT Goduod

B) Spyfoy CREACRS Sré&S ez, 8 ©ibun Sodoyhul 93 Sodres
S0roy U Golnod

C) é‘addb Sodorus’y 68 dodve axo Qd&sg IREAE SV &3"’;5053 oo oo
drbdom FgaTor

D) 03 2brd 38 JohPws TP T& VRN wrdd S¢ STgod” Golraw

Among the above. identify mncorrect statements

D WoTuE' J6rEI soToLy Miowod
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Options :
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A.C

I-a

3 B.C

, B.D

Question Number : 44 Question Id : 1874635004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following

List-1 List-1I
A) Tnchimella I)  Xiphisura
B) Trocophore II) Twbellana
C) Tomana [y Porifera
D) Trilobite IV) Polychaeta

V) Hemichordata

Bo& TEQ BIRGLs

e -1 e -1
A) B85 ) a5
B) (&S'E>S ) &5B0c
€) woowar ) oo
D) Bs'3S V) >ofer

1{) - DJS"@&J"

The correct answer 15
DOGRS SSrEdSN

Options :

a) @B (© @O

N G A

Ay @B) (©) (@O

L

A B) (© (D)

@A @ © (@O

v I\ i1 il

Question Number : 45 Question Id : 1874635005 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following statements

A)  Corallivm rubrum is the precious red stone coral that belongs to Scyphozoa
B) Renette gland 1s an excretory gland found in round worms

C) Tubifex is an aquatic annelid

D) Inchilopods. maxillae are modified into grathochilarinm

Bod eorw vigohio Badod

K) Sooabo Hpd oF 43 YIETH 3065 BB INY e Gado
B) 336 (08 Mods e’ DgeBabse

C) &rgdDf) oF £ of 303l «305

D) 36'IGos' 2odiwn Srduddo Bod S6BB0cHoDH Iy

Among the above. the incorrect statements are
* LOTRST J05N B NGodod

Options :

. 8P
,B.D
.0

, B.C

Question Number : 46 Question Id : 1874635006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the following organism with Jocobson’s organs. paired hemipenis and 12 paurs of
cramial nerves
ZESIR wichaor, »f 2d TPBIN, 12 a2de EFo Thw Ho 2 MBS

Options :
Tropidonotus

| (EBETE
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Trionyx

(EaTrOE

I-a

Chameleon

 Edaims

Bungarus

L2VOTOR

Question Number : 47 Question Id : 1874635007 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following table
Group Feature Example
A Cyclostomata Renal portal system is absent Branchiostoma
B Reptilia Megalecithal and cleidoic eggs Tropidonotus
C Aves Corpora quadrigemina Psittacula
D Amphibia Collumella auris m middle ear Rhacophorus

Bob SESH J0OoTUS

S AE S ©500 - Tnaesalet=)
A wETrdLr SFNT S Sgdn SoSEs (& OSOI e
a = £ g i h
B [&5685@rw 0dELSEaNg 0 Eons hd | (@OWLS
C S0 8o SqdSaT RS
D & OO T OO Sy DIS" §T50DE TEFIOD

Identify the correct combinations
B UG TS BEIoPod LioSes

Options :

, BC

, AB
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Question Number : 48 Question Id : 1874635008 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following about types of flagella
List-1 List-11

A) Paranema I) Lateral appendages and terminal filament absent
B) Chilomonas M) Tworows of lateral appendages and termunal filament
C) Astasia II) Lateral appendages absent and terminal filament is present
D) Uiceolus IV) Two rows of lateral appendages

V) Onerow of lateral appendages

$Tral Bobd Sub U 3EIGT0d

e -1 gder -1
A) Dodsr )  SEpAopren, wodidodnd Godd
B) Fodrow ) JBodk 58S FURIT o, sudgdodd) olron
) ﬂf_\;&ai*' o) S8y o Sody, wodidgody solwod
D) edarod IV) Sold 363 Iy Aoeren Godron

V) o8 SGss* TOY VT GOLToR

The correct answer 1s
E&&@n‘ﬁ PEPTS TN oS!

Options :

A @ (© @D
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A @B (€ (@D
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(A) (B) (C) (D)

1Y I oI Vv

(A) (B) () (D)

s V1 Vo oom

Question Number : 49 Question Id : 1874635009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

One of the following substances mterferes with the transport of dopamine

» o+

[ - S

Sud WO dogud’ wid S doerd £8g0 TioEolnod

Options :

Morphine

s

i n S
i W Y O

Herom

-

TTTON
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Cocaine

"
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Ganyai
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Question Number : 50 Question Id : 1874635010 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Entamoeba histolviica 1s a monogenic parasite.

Reason (R):  Itisinfected by contaminated food.

dgdo (A): Dobbar FFOLE w ITETan HTHRD.
o0 (R): 20 FoEhE sSdo T H0gIH306.
Options :

-
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Both (A) and (R) are correct and (R) 15 the correct explanation of (A)

(A) S:8050 (R) &3 Bodr H0GHSD 5:065% (R) €38 (A) & $0¢35 250
!

Both (A) and (R) are comrect but (R) 1s not the cosrect explanation of (A)

(A) 50cdn (R) @ Todsr S0&0da 577 (R) 238 (A) 8 S0G38 500 760

(A) 1s correct but (R) 1s not correct

(A) 563056 2 (R) 5083056 5
3

(A) 15 not correct but (R) 1s correct

(A) 5863558 & 570 (R) $586&058
4

Question Number : 51 Question Id : 1874635011 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Coelozoic parasite with syncitial epidernus. pseudocoelom and rhabditiform larva during
development.

ci6 PAS® &) Ty BOQe, ey ¥65 W So, BPHPS* TrandFde dogso
S &

Options :
Taenia

Edasir

Wuchereria

SF00a5r

L

Fascrola

Ascaris
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Question Number : 52 Question Id : 1874635012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements about drugs

A)  Consumption of crack m low doses causes hallucinations.

B) Amphetamines cause sleeplessness.

C) Diacetylmorphine slows down the body functions.

D) Morphine is extracted from pod of poppy plant and 1t is a depressant.

SFEEGT ot BobS (Bod woTws SLIO0HLE

A) 85,5 Jraend’ FF ANAFHIL |gods FidoIsod
B) woobBofer JES0Dd

C) BIu8S Sr0yd ¥08Sdgei 235980 b

D) ;’AJ‘DJEFEU o G, ©H058g 8IS WVE Hrod RO, 28 Soerdn FDNOB

—

From above. identify the incorrect statements
D THS JWFI woTw Miodod

Options :

, B.C

A.D

L

3 AC

, B.D

Question Number : 53 Question Id : 1874635013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In cockroach. thermoreceptor sensillae are present on

G'QusS* SYrTs dYeres LT eolrow

Options :
Manxillary palps. labial palps and antennae

1 2085 00 s ﬁ_}crguﬁ'w, I&_‘}dg G’;,uri:’n;
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Labrum. maxillary and labial palps
. 2 wha, 2085 0l BeU Mool
First three segments of the tarsi of legs
S’é:;j. e ug I rd podsTw
3

Anal cerci
4 oSO el

Question Number : 54 Question Id : 1874635014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following
List-1 List-11
A)  Urate cells I) Discharge uric acid during coputation
B) Utriculi majores M) Nourishes the sperms
C) Utnculi breviores II) Storage excretion
D) Phallomeres IV) Nitrogenous waste eliminated during moulting
V) Helps m copulation
808 TED 2836508
ade -1 zae -1
A) 3008 Sorew D SodG o0 claurdE el IBYS
B) clo@sogs $s'G) I HEsars Faw
C) oSo@sgs O3'G) ) Jdend JSYS
D) &S oeai IV) JT S8 SSchods’ Sigdoned SggaoTe INES

V) [l o8 S8 daron

The correct answer 1s
550@35 QT RB

Options :

(A) (B) (C) (D)
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Question Number : 55 Question Id : 1874635015 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Which of the following is incorrect pair regarding cyclomorphosts in Daplmia?

Bod T8 Fdolr & §ADOE Pho GrIEch® Tod J05R 2 MLBuHLE.

Options :

L4

Spring

SRUBEO0

Winter

sgv Lo

- QX TS ool Hhde
-

- Helmet projection receds

- WO

- Round head attains maxinm size

- oG so ﬁb“?;.,, J0S5r0 BT LS

)
&

Small helmet projection

13
-t

§ d&ibde Sifdo

- Round shaped head

- Mol v

Question Number : 56 Question Id : 1874635016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : The population size of a species shows exponential growth
Reason (R):  Unlimited resources of the habitat favours such growth

S0 (A): o8 T8 2P J0Srwo Jreros HB Fodisiod
%m0 (R): G H0S" Bi0WE I5We OYpE GoB & [ IFgHd
Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
1 (A) Do (R) w0 Tode J0G0ID Sudbcin (R) 38 (A) S S0G358 didem

Both (A) and (R) are correct but (R) 1s not the comrect explanation of (A)
(A) S0o¥® (R) w0 Bodsr 00D 5°2 (R) 930 (A) § S038x8 D 570

B

—

(A) 1s correct but (R) 1s not correct
3 (A) ~0GEE 53 (R) 505330 s

(A) 1s not correct but (R) 1s correct

(A) S06 5760 570 (R) S08056
4.

Question Number : 57 Question Id : 1874635017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements and identify the mcorrect one

Bod wosw BGpcIo BY POTER TUY ABowod

Options :
Comnective tissue layers extend beyond the muscle to form sheet like aponeurosis

SuBras Soxro oo Sudod) o8 FEhoted ool JFIrgENRM

e

ST o
1

Non-myelinated axons are conunonly found in white matter of central nervous system

DOI I8 SosT o FPSwor Sodad Sg5% g, 3w Ioges’ Gotrew

2
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Volkman's canals mterconnect the Haversian canals

<6 of
—

&80 Vo TI8ohs Nogod SoiyTron

A group of cell bodies in the central nervous system is called nucleuns

Soad HgNde* saldFfe Sluoairy Sudss wolrd
4

Question Number : 58 Question Id : 1874635018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Gause's competitive exclusion principle states that the two species cannot co-exist
mdefintely and the competitively superior species will eventually ehiminate the other
species

Which of the following statements are correct regarding validity of the Gause’s principle.
A) If resources are limated

B) If rwo species occupy different niches

C) Hresource partitioning takes place between two species

D) If two species occupy identical niche

e FESE0 NIF0Y Srge PETe Jod e sdFdor dloddo Jws .
FESHS" ol dHos NHOS 2Jho EHhom M6

Bod I woToddorr e WFo Y DoyHEy

A) SSSen 88595 ﬁfﬁﬁu&.ﬁ

B) 3Jod zéhen IHIL Vo SEBODIHE

C) Bod ards g Sdhe Jgas a0hSHds

D) Tod @rder 48 DAV SIBLoRIHE

Options :

| A&B

C&D

L

A&C

Las

A&D

Question Number : 59 Question Id : 1874635019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Read the following data carefully

Parameter Values
Initial population of lions 400
Number of new births in one vear 100
Number of deaths m one year 40

Imagine the lion population grows logistically where the carrying capacity 1s 800. Then the
per capita birth rate (b). per capita death rate (d). infrinsic rate of natural increase (r).

increase or decrease in population during unit time period ( d;] are respectively
§

Bob Seodhn wfgaido Josnhw

20%0 QDOIBOY
WOT PHLE aTYT 400
VobGsTo0d” 2L Doy 100
PoNGiFoes” e Sopg 40

oSy aovyr oEF 500 SO0 &0l ¢ BTt BnE), POSETEHYE Jood 800 wond
255003 (b). Sodwdn (d), e 5B 20§ St (1), Ifssrwed® aae Lhibde

o dHihdw [-i—v] Dendews SSnm

dr
Options :

1 0.25. 0.01. 0.35. 30

0.1. 0.25. 0.15. 30

L

, 025.0.4.0.15, 60

, 0.25.0.1.0.15. 30

Question Number : 60 Question Id : 1874635020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following factors favour the right side shift of oxygen dissociation curve

Bod 8¢ IsdFe sonerT simd IGras Oy REZIH IPIS Doduswd

Options :
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High Po,. high H™ ions. low PCO,

| @58 POy wBs H g8, 8835 PCo,
Low PO,. high PCO,. high pH

, 8853 PO,. 88 PCO,. &% pH

High PCO,. high temperature, low pH
, 9898 PCO, wh¥ wipis, S8y5 pH
High PO,. low pH. low temperature

, 0% POy $89,3 pH. 359,5 &3

Question Number : 61 Question Id : 1874635021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following forms of transport of respiratory gases
A) €O, as bicarbonates

B) O, throngh plasma

C) (€O, ascarbamino compounds

D) O, thronghRBC

E) CO, m dissolved state

TIRTWRY ST SO BoAS (5ud worw J0LOLHE
A) CO,- 3 shRCwmr

B) <3y oo O,

C) COy- GRS So@rid Sogoerm

D) 0;- J¢ & §ero oo

E) CO;- mie 8

Arrange the above m sequence in ascending order based on their percentages.

2 TE) ST TEON 300N sTTENeS” wG0d.

Options :

, B-D-A-C-E
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B-E-C-A-D

L-J

A-D-E-C-B

4+ A~E~C-B-D

Question Number : 62 Question Id : 1874635022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify A. B. C and D 1 the following graph regarding nerve impulse transnission.

T8 BSTES HIoD8 Honudod Eod SS* A. B, C. Do H8osos.

=
g
Sy
£
B
=
—100
—> Time
oo
Options :

A B C D
Polarisation Stimulus Repolarisation Hyperpolarisation
Sy TR Ddegydeau @ S0

1

A B C D
Hyperpolarisation  Polarisation Hyperpolarisation — Stumulus
98 Syioo Syea0 ©8 §Smo OIS

2
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A B C D

Threshold sttmulus  Depolarisation  Repolarisation Hyperpolarisation
" B &L WETTe Q:Gpdeo ©& Syimo
A B C D
Depolarisation Repolarisation  Hyperpolanisation  Polarisation
JHS0 PGy U@ G0 Sydeao
4

Question Number : 63 Question Id : 1874635023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Increased blood pressure in the heart acts as counter check on RAAS
(Renm-Angiotensin-Aldosterone-System)
Reason (R):  Right Atrinm releases Atnial Natruretic Factor (ANF)

Afdo (A): HoBS' DOAS EIGI0 BAS - sodd> BYI - BGRCI SgoPs
;ﬁsﬁ-ﬁiéuﬁ' SNTVCS0
sd00 (R): %8508 JBohS TEcu0sE sdkoks kit Foswibd
Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
| (A) Dbosn (R) wo Bodr S0GRED S0y (R) w36 (A) 8o S06308 50
Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
_ (A) 280n (R) e Bods H0G08D 570 (R) o8 (A) § 205308 A58 576

(A) 1s correct but (R) 1s not correct

(A) 0056 53 (R) 5080850 w6
3

(A) 15 not correct but (R) 1s correct

, (A) 30558 v 53 (R) S0g056
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Question Number : 64 Question Id : 1874635024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the followmng table
Part of Nephron Location  |[Function
A Malpighian body Cortex Filtering blood
B Proximal convoluted tubule | Cortex Absorption of useful substances
C Distal convoluted tubule Medulla Absorption of urea
D Collecting duct Only Cortex|Collection of unine
Bod L8 JVeOoTed
I8, WAre o E‘?‘;ﬁm FTA
A Srdyhchd Bo Sy 00 S50 SEFad
B é":l}::‘ag 2oN€8 9S8 S oo Mmgﬁﬂ‘ﬂ‘;m 250
e Aol SuddE 98 &30 Sl €'hke
D Doiere aéo Sy, 008" SrGE3 Surierd) wEboSLe

Identify the comrect combinations among the above

DarSest
L .

Options :

| AB
5 BC
+CB

, AD

s

3 FodDoPoids Hictkod

o

Question Number : 65 Question Id : 1874635025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following

A) Blood coagulation 1s also called haemolvsis

B) Blood clotting 1s a change i plasma

C) Serum does not contain clotting factors like prothrombin and fibrinog
D) Proconvertinis mvolved i extnnsic pathway

Bub worew wdgonso Jadwd

A) 8§ SHosTR TIrTHE 63 BT Bl

B) U85 odSe <1b ISt 2367 Som 80y

C) Qos* 88 FH,0d8 sUFoons [(FEods, OIS sodd

D) | @85¢08 abngsy $60& >STolwod

Among the above identify the mncorrect statement(s)
2 T8¢ 5050 wodn(w) Mfodud
Options :
1 A
, AB
1 AAB.C

B.C.D

Question Number : 66 Question Id : 1874635026 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In mamumnals quadrate 1s modified as

SSTod” |Beowe ST Srdodde Bobod

Options :

Malleus

 Brdaso

Incus

) oo
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Question Number : 67 Question Id : 1874635027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arrange the following in a sequence from edge to centre i a sarcomere

A) M-lne

B) Z-hne C) H-zone D) I-band

a o - — . " _I_.“_ ol L L L - . "_F
Bo P08 Dl §od HTLN) ol S8 SWDEHeS

£

]"
v

B) Z3w C) H-ofwo D) Lad

Question Number : 68 Question Id : 1874635028 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following about immune system

List-1 List-1I
A) Complement proteins I)  Stimulate phagocytosis
B) Tcceells My Microglea m bramn
C) Cytokmes I Inflammation
D) Mononuclear phagocytes IV) Membrane attack complex

V) Cell mediated immunity

G NTEE SgHpR TobS §ob T8I 2EBTI0d

e -1 e -1
A) SBFES @85 D $ogEoed EBbosto
B) Tecswren M) Tdss™y WENES Brw
C) DEEew I s=guse
D) Q88088 iR IV) &doé Sodgo

V) $od88 SHusEEs

The correct answer 1s
DOGHN HAPEBN
Options :

a @B © (@O

N o I V

A @B (© (D)
A% 1 v I

a2

@a @ (© (@D
, vV VvV 1 m

(A) (B) (C) (D)

Question Number : 69 Question Id : 1874635029 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Study the following statements about hormones

A) Thyroxine and cortisol stimmlate erythropoiesis

B) Oxytocin and progesterone are identical in function regarding maintanance of pregnancy

C) Aldosterone and atmal natrunitic peptide are antogonestic regarding renal reabsorption
of Na

D) Lutemizing hormone is a cholesterol derivative

S oo TFods fod vorod H0¥doSed

A) FTodR. ITS wihedo $HEY [Wikdow

B) foymdns $Edd) b Ho00fed s&ITDS, @BYTE SE S5 S5

C) oacio Yu:Fomss Sonofod BgRoS, JEhE JBTrOBE Dplw JIHE
RLETAN0 WY

D) woi&3eoli 508 FEpud edynsin

From the above. identify the correct statements
R THST T8 eoven HDiodos

Options :

| B.D

A.C

L

A.B

LCD

Question Number : 70 Question Id : 1874635030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Human papilloma virus causes

Bob TES" Tughd FLT S 3R S0/0B6

Options :

Genital herpes

BaTron -".-..3"335
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Hepatitis-B

WLESS-B

L

Syphilis

o B

mdaf&

Cervical cancer

n’cgéd‘b SwpTed s

Question Number : 71 Question Id : 1874635031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Study the followmng table
Glands Location Function
A Bartholin glands | Sides of vaginal opening Lubricate vaginal passage
B Skene’s glands | Beneath the uninary bladder | Lubricate vaginal passage
G Prostate gland | Around prostatic urethra Activate sperms and provide
nutrition for them
D Cowpers glands | Above the prostate gland Neutralises the urethra
Bob DB S0200Wud
edows %“35;: &
A (2883 fiodiw  |Grd Jo@Rt addde | AN Srow) oSl TSdbo
B |&e @foghos SoMErISrNE BNS o S0l el Sablic
C [0S (Hod o8y SndE o DFSroids 482000 T8
dodar o soboéio
D ([F56 ylogoos FOJ iols Lerrd @ERETeR) SLgsiodbu

Among the above. 1dentify incorrect combination.

2 T8S" J0FR DYAoHod Moo

Options :

, B.D
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,AD

o AL

Question Number : 72 Question Id : 1874635032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following special techmiques
A)  Artificial imsenunation

B) Lactational amenorrhea

C) Zygote ntrafallopian transfer

D) Intracytoplasmic sperm injection
E) Veginalnng

ol @H8g8 SusSHEFud J0EO0TLh

A) £yes HE Idawo

B) 5_6*6'35.25 S0 wRRUFE0 SHFSS0
C) PS'HDHE Feodd Docingds =69
D) Sods (&5

0S8 DEforos 2B Sohdo

E) &rd Swodo

From the above. clioose which could assist the couple to have cluldren

&

2 TES" Soldon dow FOETIS ITCHVW FosEISLL DEudod

Options :

 A.C.D

A.B.C

Lk

A.B.E

Lk

A.C.E

Question Number : 73 Question Id : 1874635033 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Choose the correct genotypes of parents. who have 50% of their progeny with B blood
group

50% Susd B IgST Q) SONS SQdube GBN8 a2Rupirdrod 806 8 Sood butiud

Options :
1*1° Father - I21° Mother
*1%805 - P1I%80

1 i

T*1* Father - I°1° Mother
IAIAEEQL& -9 &9

L2

12 Father - I*I® Mother
. Prdogé - 1162
1B Father - IB1° Mother

PP g0 - P19 %9

Question Number : 74 Question Id : 1874635034 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): In X-linked recessive inheritance. males are more affected than females.
Reason (R):  Males are hemizygous to X-linked recessive alleles

MBo (A):  X-Sdon) sodds siiSetsss’ fufdPes, § dHuss) 8y Im

5780 (R): DrgYHos XSS o) wodls =lugPosy wcluiijEes

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) S003n (R) o0 Bodos S0R0SD ddin (R) @386 (A) & $0G308 Jhdm
1

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 20w (R) wo Bodks 003D 579 (R) 838 (A) § D088 Dide 7
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(A) 1s correct but (R) 1s not correct

(A) 553058 2 (R) $03088 ¢

(A) 15 not correct but (R) 1s correct

(A) 503356 5760 570 (R) S0GS6
4

Question Number : 75 Question Id : 1874635035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements about the blood groups
A} The genes for Rh antigen are located on somatic clhiromosome pair-1

o

B) Multiple alleles occupy different loci of homologous chromosomes
C) The expression of blood types in man is by 3 alleles of a single gene
D) Blood cells of the foetus are destroyed by Iz M type of antibodies

SESToR Toha 5ob woTols R0 RG0S

A) Rh sy doo@od adogdher wibd Fard' adp solrow

B) oiud i) Jfonw dHed FRrSing. 9% TTT Golrow

C) % =25gd% T0dS Sord ddwidiono Sy SrdHas” tgSTor b deiodsun
D) @Erood' Sgsmrod Ig M dso Ba85es d9 o e

From the above. identify incorrect statements

D TES" JFW woidoew Hodod

Options :

. AB

B.C

!,-\.l

5 BC

B.D

Question Number : 76 Question Id : 1874635036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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In a population of 1600 individuals. 570 have the genotype AA. 750 have Aa and remaining
280 have aa: find out the allelic frequency of allels Aand a

1600 2300 Ho 2’ AAadogbrdo 3650 570, AasdSd 750. aasdS Lundisd 280,
& 23erd” A a dwidsey FIHTHOD BusHod

Options :

, 0.76,0.24

0.4. 06

L

0.48. 0.52

0.59. 0.41

Question Number : 77 Question Id : 1874635037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): Natural selection is considered as the driving force of evolution
Reason (R): It favourss all genetic changes that occur in organisms

Jgo (A): 2530 B0 (SEBI0m0i TOSIET S0ABTG
sdwe (R): 28 2HoS' EOR vy wlgdrdnoil (@800

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) So0csx (R) o2 Bodsr SOGLSL H0din (R) 38 (A) & 30638 8=

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) S0csw (R) @ Jods #0052 570 (R) @38 (A) § S0G@8 JSC s

.IJ

(A) 15 correct but (R) 15 not correct
(A) 20c0i58 573 (R) 2053858 578
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(A) 1s not correct but (R) 1s correct

(A) S0GS8 574 50 (R) S05E

4

Question Number : 78 Question Id : 1874635038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
The molecule detected in direct ELISA 15

-4

- —
3 WO o)
=

Chromogen substance

ol

&f o r - F
4 HUBNES L@TQO
¥ [ )

=

Question Number : 79 Question Id : 1874635039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Match the following

List-1 List-1T
A) Prolonged P-R Interval I)  Bundle branch block
B) Prolonged Q-T Interval ) Hypokalenua
C) QRS complex vanations IM) Bradycardia
D) TallT-wave IV) Hyperkalema

V) Myocardial infraction

1Bod T8Q 28L0508

e -1 e -1l
A) 088 P-R «usdo D 2088 s @586'%0
B) 268 Q-Twoddo M rarsdicss
C) QRSHosy IDFgswen I ésgair

D) 288 T8daiio IV) &8s odocis

The correct answer 1s
SOGH JArTISw

Options :

Aa @ (© (D)

. ¥ I &

A @ (© (D)

L

a4 @B © (@D

@a) 3B) () (D)

Question Number : 80 Question Id : 1874635040 Question Type : MCQ Option Shuffling : Yes Display
Single Line Question Option : No Option Orientation : Vertical

Question Number : Yes
collegedumaa
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Study the following statements regarding stem cells

A)  Dendntic cells originate from both myeloid and lymphoid stem cells directly
B) Embryonic stem cells are plunpotent

C) Red bone marrow stem cells are omnipotent

D) Granulocyte-Monocyte progenitor stem cells produce neutrophils

sodsere oD ud woTod wfgehio Debod

A) BoBOE Sorww, DUrond, SuFrond 5ol o Wod Edgiom G EMH
B) Wodstod Seoren LOTol Uso

C) JNY B Folksarw wIHTFBol I5o

D) @& RE-3ri Tl PEILE sodsmes Srgiiod)idh &68 Idow

From the above. identify the incorrect statement(s)

n ES 50573 wodbwlws) Do Sw

Options :

1 AB&C

, B.C&D

, C&D

N e

Physics

Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 1874635041 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If P. Q. R and S denote energy. mass. angular momentum and gravitational constant

Q’s>
respectively. the quantity [ﬁ‘:‘] has the dimensions of

P. QR Ho0cin S w0 H8dm €8, (855073, Fdch (@dgiio wdain Hhthes Horoesudo

QSSE
PR’

AR UE. [ ] ol Ddod SOh & Fesoe

Options :
Mass

E358

Length
FEY

l-J

3 520

Angle

§mo

Question Number : 82 Question Id : 1874635042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

From the top of a tower of heiglit *H °. a body 1s thrown vertically upwards with a speed "u’.
Time taken by the body to reach the ground 1s *3" tunes the time taken by it to reach the
highest pomnt in its path. Then. the speed u1s

H'™ & fio wd 3p0o R wod of SR ‘v’ 588" IQIwIm L8 Juodh. wd ¢§rdod
DHLH Siurodn, vb &5 SFo” M0 JdS) Thbh Hpsrodnis ‘37 Bt &od,

SG U
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Question Number : 83 Question Id : 1874635043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A particle moves in X-Y plane with constant acceleration ‘a’ and is directed along the negative
Y-axis. The equation of motion of the particle has the form Y = px—qx”. where ‘p and *q’
are positive constants. The velocity of the particle at the origin 1s

o8 §0 X-Y dodnd” Rddioo ‘a’ & SO0, 08 ave Yok 87T &ob. Soo Jud

o, . - AT el . I - B PRI L G o i . sasscroal
Q80200 Y = px — gx- Grdo 50 6o, nodd” Pl q w §T 85 RToSWs, Soud

'Il»

w

DrOAOEY ¢ ¢ SaINNw

Options :

1
a(l+p~)
2q
3
4

Question Number : 84 Question Id : 1874635044 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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A particle moving in a gravity free space along horizontal with a velocity 1 mis™ is subjected
to an acceleration (21 +4j) ms . Then the vertical distance covered by the particle by the

time it covers a horizontal distance 6 m 1s

| ms! 3508 HHEerd (B’ e SSrostor Khedd) 20D (2i+4])ms?

00 B IoTndI0. & Bwo 5oz Jdrosdor 6mdrdo RUrSuIS T ol Gobrdod
802 vom &rdo

Options :
| 6m

Sm

4 9m

Question Number : 85 Question Id : 1874635045 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A block of mass 100 kg attached to a massless rope and the second end of the rope 1s pulled
up by 2 men along a rough inclined plane of coefficient of friction 0.2 inclined at 37° with
the horizontal. If they exert their maximum force for the block to just start moving up. the
force exerted by each of them 1s.

(Acceleration due to gravity = 10 ms—. Tan37°=0.75)

802 Sirodcrs 37° F'mo Bolndd) o8 TN Tuduc (iwrbaso 0.2) D 100 kg
BO5om8 Ho 2.8 BTy w8 BUSHE S7dR Do, & Todd VBT RGBS Sglws 85
f0% wwo PErHvd Twduu Jowd B8 TISYD, by Todvon W8 sdvEo
sofn, wfy 528 PArNHAS noo.

(oS8 Stome = 10 ms=. Tan37°=0.75)

Options :

, S00N

760N

L

380N

(Y]
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Question Number : 86 Question Id : 1874635046 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two blocks of masses ‘m’and *2m’ connected by a massless string move along concentric
horizontal circles on a horizontal fnctionless table with *O° as fixed point as shown in the
figure. If ‘T 1s the peniod of motion. the tension m the longer part of the string 1s

(Neglect the dimensions of the blocks when compared with the lengths of the string).

'm’ Hocin 2m’ GS5odes Mo Tok &3w St SrdS Ao o8 3085 TTAE
B8 28 R0 DodoY ‘0" I soBboly ol §32 JBr08d 8 2o S80S 8z

SSrodd Hesd drore 3oad SSovthanon. 8i8S stoo ‘T wowd, Toos® 2835

e

%

ol o 855
([rore 2EHE FTT 6o Whod J0HPISE SHEEE).
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- ".
- - = . .
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L - -
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¢ m t?.ﬂl
' : O )
. ] £ e
\ 21 v !
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Options :
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2
T
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16x 1/
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Question Number : 87 Question Id : 1874635047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A string of length 1 m is fixed at its one end and a body is attached to the other end of the
string. The body oscillates along an arc of a circle in a vertical plane. If the breaking strength
of the string is twice the weight of the body, then the maximum distance covered by the
body mn one oscillation 1s

| m >3 Ko & uf DEEH OAoD, Bods DIE uf SHHK EBTH. & SuH of
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One end of a compressed spring of spring constant 5x10° Nm™ is fixed to a wall and a
block of mass 0.5 kg 1s kept in contact with the other end of the spring. If the spring is
suddenly released. the block moves with a momentum 10 Ns. Then the compression of the
Spring 1s

5x10° Nm™ @yofi Roroso fo Scbddo D088 w8 @of of VSED FEs Shod Bods
ASES wiof'D 0.5 kg (Bigore Mo aloe o, Wi o5 F0m S608, 63y
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A wheel of radius “r " rolls without shipping with a speed *v’ on a honizontal road. When it 1s
ata powt “A” on the road a small bob of the mud separates from wheel at the highest point
and touches the poimnt ‘B’ on the road as shown in the figure. Then AB is

(2 - acceleration due to gravity)
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A uniform rod of mass 0.5 kg and length 0.5 m 1s suspended at its ends by means of two

light inextensible strings so that the rod 1s horizontal. If one of the strings is cut, then the
angular acceleration of the rod 1s

(Acceleration due to gravity = 10 ms ™)

0.5 kg (655072 00w 0.5 m 3P fo o8 551 o Dod Ve HF Dok BB,
PHEECLE RS DB Troud’ 5§ 80 Sireddon Yot Berdthad:. u TTud'
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Two blocks of masses m; = 1 kg and m» = 2 kg are connected by a spring of spring constant
24 Nm! and is placed on a horizontal frictionless surface. The block my is imparted an
initial veloeity 12 em s~ which produces maxinmum compression in the spring towards m,.
The amplitude of oscillation 1s

W B o 80 Jdrodd Sodw  Tod \BSgodbesr my =1kg my =2kg oo ®Byh
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Question Number : 92 Question Id : 1874635052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A planet 1s revolving round the sun of mass *M" i an elliptical orbit with semi-major axis
‘a’. The speed of the planet when it is at a distance ‘r” from the sun 1s. (G - Universal
gravitational constant)

M’ 555078 fio Srdogd shiay w8 (15°5n a” Lo 85w fo &6 Syarso §53¢5° LOEW/NG.
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A uniform cylindrical rod of length “L° . area of cross-section ‘A’ and Young's modulus “Y’
1s acted upon by the forces as shown 1n the figure. The elongation of the rod is

L' 289, ‘A’ 5565358 3roge, Y ahofi Hobe fo 868 SrIres 8§ swos?
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A U-tube open at both the ends is partially filled with a liquid (A) of density 950 kgni™>.
Another liquid (B) of density 820 kem™ is poured into one of the arms and it forms a
column of length 10 cm as shown mn the figure. If the arm into which liquid B is poured 1s
shielded from any air motion. the speed with which air should be blown across the top of
the other arm till the levels of the two liquids are at same height in ms— is

(Density of air is 1.3 kem=. Acceleration due to gravity = 9.8 ms—)

Bod FYo BEL sodwdd U-Tgose 950 kem™ Fo@d do |E5o (A) & Fasom
Ao, 820kgm™ FoEs Ho S&8 (GarR) (B), U-io @x8), & ghao T FRSEYED
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A 15 kW drilling machine is used to dnll a bore 11 a sinall alumininm block of mass 10 kg.

Assuming 50% power is used up 1 heating the machine itself or lost to the surroundings.
then the rise in temperature of the block 1 2 minutes 1s

(Specific heat capacity of aluminium=0.91 T g1 °C™)

10 kg ($550°¢ fo w8 D8 worglodoie 83" o Sogo Tolwbod 15 kW B86R
ool B0y GHBrhowh. 50% >Iogghouise afolgsn 83 36 whbs
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Earth receives Sun s radiation at the rate of ‘P° Wm. Mean distance between the Sun and
the Earth 1s ‘r" m. Radius of the Sun 1s ‘R m. If Stefan’s constant 1s ¢ (in SI units), surface
temperature of the Sun. in kelvin. is
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C i . i 1 .
A Camnot heat engine having an efficiency of 10 1s used as a refrigerator between the same

two temperatures. If the work done on the system is 10 J. the amount of heat absorbed from
the reservoir at low temperature is

888 — lv of 58%E chogod. o2 Todk sIPide Ny 48080 oo
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Heat is flowimng from a refrigerator whose mside temperature is 280 K. toaroomat 300 K.
Then the amount of heat delivered to the room for each joule of electrical energy consumed
m joules 1s

S50 &6 280K o w8 88088 oloBc Wod G a0 300K S5S fio a8 BI0800a.
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-
. . , &
The temperature at which the rm.s. velocity of oxygen molecules will be [:] of rm.s,

-

velocity of hydrogen molecules at—3 *C 1s
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Assertion (A) : Doppler effect 1s assymmetric in sound.

Reason (R) : Insound. apparent change i frequency depends on the method of inducing
relative motion.

IS (A) GRS TI6 Bl sRAGSEw
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A stretched wire vibrates with a frequency of 60 Hz when the tension in the wire is T and
with a frequency of 130 Hz when the tension in the wire 1s T. If the tension n the wire is
(T, +T,). its frequency of vibration is

o8 FRONS &, BrS’ &g Ty edidydo 60 Hz 2S:pdged’ Sobiyol. 8ng* &858
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A point source of light 1s placed at the bottom of a water lake. If the area of the illuminated
circle on the surface is equal to three times the square of the depth of the lake. refractive
index of water in the lake 1s

of Doddrd 508 255 I8 03y el iind GodTd. 38 6I0Sud
BEFSogRN BF ITogo, Gy ' Io0E Dok TWoB, WERYS'Y G HBFSS
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A beam of light falls on a system of 4 polaroids, which are arranged in succession. such that
the axis of each polaroid makes 30° with the axis of the preceding one. The fraction of the
mtensity of the incident light that passes throngh the system 1s
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arZ
A non-uniformly charged sphere has charge density miven by p= 3

where ‘a’ 1s a constant,

'r" 1s the distance from the centre and ‘R’ 1s the radius of the sphere. Then the total charge
mside the sphere is proportional to

»
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Three identical charges each of magnitude 3 uC are placed at the comers of a right angled
mangle ABC whose base BC and height BA are 3 cm and 4 cm respectively. Forces on the
charge at right angled comer B due to charges at A and C are F, and F, respectively. The
angle between their resultant force and F, 1s

wBY 8,8 3 uC S0drwo Ho Jurd H6kvd esdTww ol vont'n |duo ABC Gwg,
Sords Tre 3G sodudson, © |Bdao Sws), grdy BC H0cdn I8 BA o S66m
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In the given circuit. one of the 3 UF capacitors has 600 wJ of energy. Then the potential
difference across 2UF capacitor 1s
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Two concentric spherical conducting shells of radii "R’ and *2R’ carry charges ‘Q” and
2Q  respectively. Change mn electric potenfial on the outer shell when both are connected

o - . - 1
by a conducting wireis | K=——
41[50
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If the balancing length in a potentiometer experniment changes by 10% when the cell of
untknown emf is shunted by 6 £2 resistance. then the infemal resistance of the cell in £ 15

FBIB>r LG @E3rNos® o8 IO g do HPird) 6 Q Go& JFFos'
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An electric cable has just one copper wire of radius 8 mm and resistance 10 €. This single

copper wire cable 1s replaced by 4 different well insulated copper wires each of radius
6 mm. then total resistance of the cable 1s

o8 Diugd Bwod Smm Fgargo Subci 10Q 8'To e 28 o8 ool D SO0 &Gub. &
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A 1 m long thun metal bar of neghgible resistance weighing 1 kg rests on two metal
supports as shown m the figure. The supports are connected i series to an 1deal cell and a
resistance. A uniform magnetic field 0.5 T 1s applied in the region normal to the plane of
the paper and mto the paper. Maximum emf that the cell can have without breaking the
circuit m volt 1s

(Acceleration due to gravity = 10 ms™)
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When a proton of charge ‘e’ and mass “m’” 1s released from rest in a room. it stasts to move
with mitial uniform acceleration ag towards West. When it 1s projected towards North with
a speed v it moves with an mitial acceleration 3a, towards West, The electric and magnetic
fields in the room are respectively
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Two short bar magnets of moments 512 Am? and 1000 Am? are placed coaxially 18 ecm
apart. The magnetic field 1s zero at a point Q between them. The field at Q. when one of the
magunets 1s reversed pole to pole 1s
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A 10 H inductor carries a current of 20 A. If the energy stored mn this inductor melts ice at
0 “C. then the mass of the ice melted is [Latent heat of ice = 2.26~10° T kg™]

10 H (s ‘55"' fo [ESos® 20 A Diogd (HETReb. & [DE8es" Jug TcbedsS 78 0°C
56 o Bootds SBNCEHONS, KOS Do $550°3 [Sow HFge =2.26%10% Tke™]
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In an LC ciremt connected to an ac supply. the resonant frequency 1s 200 MHz when a
dielectnic of thickness & mun and dielectric constant 6 1s fully inserted between the plates
of the capacitor. The resonant frequency becomes 198 MHz when a stress of 995 bar 1s
applied between the plates of the capacitor. The Young's modulus of the dielectric material
i Nm— is nearly

ac JOPT K Boodedd uf LC Suchod™ 3rhdd Suse g 8 mm Hoddn Sobais
0S8 Quroso 6 fu wl &Hsosn om SETDESYE, vdad FHiYtge 200 MHz
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The amphtude of electric field of a plane electromagnetic wave propagating along Z-axis 1s
4 Vm. Itvaries with time. The average energy density of the magnetic field in Jm= is
(gp=8.854x107 2 CN"1m )

Z-050 Jowd JON) of Shde Jdghoned ddoio DY, Jdugs 3@ BoBS
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The de Broglie wavelength of a particle moving with a velocity ‘v’ 1s equal to that of a
photon. Ratio between kinetic energy of the particle and energy of the photon is (speed of
light i1 vacuum=c¢)

'
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Hydrogen atom in 1ts ground state 1s excited by a monochromatic light of energy 13.06 eV,
The longest wavelength among the spectral lines 1s

(Ionization energy of hydrogen atom 1s 13.6 eV)

grgond’ o TERE S8iray D 13.06eV 38 fo I83E 5708 SEIZ0TPR IGES
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The half life penod of palladium 1s 4 days. After 16 days. if its mass becomes 2 mg. then its
mitial mass is
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Match the followmg List-Twith List-II
List-1 List-1T

A)  Transistor amplifier I} Activeregion

B) Transistor switch II) Cut-off region

C) Zener diode I Voltage regulator

D) Fermi level IV) Average energy of charge carnes
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If the maximum and the mmmnun amplitades of an amplinude modulated wave are 25 Vand
5V respectively. then the modulation index 1s
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If the wave number of first spectral line of Lyman series of He™ is X cm™. then the wave
number of second line of Balmer series of hyvdrogen atom in con™ is
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Single Line Question Option : No Option Orientation : Vertical

The kinetic energy of photoelectrons enutted when the metal M is uradiated with light of
frequency 1.6 » 10'® Hz is twice the kinetic energy of photoelectrons. when the same
metal 1s irradiated with light of frequency 1.0 « 10'**Hz. What is the work function of the

metal M in J?

Med oo 1.6 » 101 Hz %:95g0 o 57088" @rioddasydk 3oosd 5o
JogSe dexds, ¢3 &Y 10 x 10" Hz >&:9Sgofe sods’ @seosTDsisyso
JeSB 08 Jogs KOs e sotned. §% 0 Mawg, A Ehebdn Jeod'
SJOS?

Options :

| 2.65 10°1

v 10—13

L
12
o
N

v 10-30

-
N
N

<« 107V

4a
1
(=
th

Question Number : 123 Question Id : 1874635083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In second penod of the long form of periodic table. identify the pair of elements which
have exceptionally high ionisation enthalpies than expected

DBYS 8588 SYES'D BodS LORES' J zob Drusu VANIBES 0Ty G ODI
oW ) To I8, 5T Godod Mot

Options :
collegedumaa
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Question Number : 124 Question Id : 1874635084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct pair of molecules in which central atom of each has same number of
lone pair of electrons but with different shapes

D Eéb&u.ﬁ: 0N, So88 SOOI D NdrS ?&:umgd‘ wold =z0& ﬁa@:?&g en‘ﬁ;;.

H,0. XeF,

L

, BiF,.CIF,

XeF,. NH,

Question Number : 125 Question Id : 1874635085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The bond order values i the anions of barnun peroxide and potassnun super oxide are
respectively

2bcho DoFE, Firlcho B8 YBGOSY Lidrd noGEie Jualas SN
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Question Number : 126 Question Id : 1874635086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Atwhat temperature (in K). the most probable velocity of ozone gas 1s equal to RMS velocity
of oxygen gasat t°C?

J &dns (Ko 38 £&8°S Saind 18d Sogrdge 3o, 1°C 54 shus sroind) RMS
DTws JdrSa?

Options :

2(27341°C)
__l

” |
—{213+1°C
! )

L

Question Number : 127 Question Id : 1874635087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The coefficients x. y and = 1 the given redox reaction are respectively

QLY 5%}56&3-5@5’.&3 BSOS’ X, ¥, Z A5t S8R

¥Cr05 +1S0,+-H — Cr- +80; +H,0

Options :
2 9
1 3. e

e [N .
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Question Number : 128 Question Id : 1874635088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct set of intensive properties from the following

-

Bod o&S" (1T EGo e o J0GE S Llududw

Options :
Enthalpy. Temperature. Heat capacity
JoFT . SIS, GITI

Internal energy. Enthalpy. Volume

WwoSDEEE, Jo E‘E’.’i} 5% B PO TS e s 1o V)

-2

Density. Temperature, Molar heat capacity
FoBS, SAWS, Jros GHTI

Pressure. Mass. Volume

wddo, \B5g078, WwSHOSTDO

Question Number : 129 Question Id : 1874635089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If K, (Solubility product) of Ni(OH), is 2.0 = 107, what is the molar solubility of
Ni(OH), in 0.01M NaOH?

Ni(OH), &%, K (@Sbahe vgo) 2.0 « 1077 wond, 0.01M NaOH ssgos*
Ni(OH), 328 |oddchd J08?

Options :

; 20 1078 M

2.0 % 10°M¥M

-
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; 20 % 1072\

2.0« 10711 M
4

Question Number : 130 Question Id : 1874635090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At T(K). for the gaseous reaction
2A =2 B+C, K¢ i§2 x 107,

at a given time the composition of reaction mixture is [A]=[B]=[C]=3.0 « 10*M. the
state of the reaction 1s

T(K) 3¢ 2A = B+Cod ooinddy® Ke dod 2 x 107, adyd oo 385 oo
pogeado [A]=[B]=[C]=3.0 x 10"*Meuwss, & ddy Gug, DO

Options :
proceeds m forward direction

YT {IS’ 2o

proceeds m backward direction

&8 HIS" 2SS

-J

in equilibnum state

"

020 3"%‘&&5" & OB

direction can not be predicted

B35S Sogoldwy

Question Number : 131 Question Id : 1874635091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

5.0 mL of X volume hydrogen peroxide solution on decomposition produces 100 mL of
oxygen at STP. The value of X1s

&

5.0 mL X $0d850&rw0 Wiid@'as wogd (@dwo d8rie DodsPdy STP 548

collegedunia

—



10

Question Number : 132 Question Id : 1874635092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

On strong heating. the nitrate of which metal does not produce nitrogen dioxide?

D S FEEDH e IHTVIHE JE'=S 3 7S J5ES?

Options :
: 95

L1

12

, Pb

Question Number : 133 Question Id : 1874635093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements with respect to orthoboric acid from the following.
I) Itisaweak tnibasic acid

) TIthasalayer structure in which planar BO, units are joined by hydrogen bonds
I0) With water 1t forms [B(OH), |

IV) Itisnot obtained by the hydrolysis of diborane

5ol TOS" wTT 05 sooR JSonodon VOGNS Fgpguils Lgewed.
D 28 a8 aobrd @50 B0

) &I e ITYo Gub. TS Abdo BO,;cbordin TE2 wogus Sul 6odraw
) &&6&° as [B(OH),] & Sy

IV) B8TS5% 2odidnc TN G0 FosBhw

Options :
collegedumaa
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Question Number : 134 Question Id : 1874635094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identity the incorrect statement from the followmg

Bod TOS” JOTQ Ty Mol

-

Options :

PbCl, 1s more stable than PbCl,
PbCl, 877 PbCl, 2d30d8

GeCl, 1s more stable than GeCl,
GeCly ) GeCl, %a@x:&

-_—

L4

CCl, does not undergo hydrolysis

CClize 380 Dosed

s

S1Cl on hiydrolysis gives silicic acid

SiCly 203300 Dod DONE vlod: 2dn

Question Number : 135 Question Id : 1874635095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the correct statements from the following

I) Chemical Oxygen Demand (COD) of water is defermuned by oxidising organic
substances with acidified K,Cr,0,

Il) High concentration of CO, leads to stiffness of flower buds

II) NO, isalung irtant

IV) Photochemical smog 1s also called reducing smog.

Bod TES* H0God JSBoR KBoHSn

) E53 srons dogudh sngd K,(1,0,8 «§5dno Ib BT S3d5Is
sfo widde (CODR Jgwedt

I) ©&f mEds" sod CO,Fudnivd: HEEN08

) NO, &hid&s 5580 (irritant)

IV) s0d &dohd amfite Boursdom M 20 $rd volrd

Options :

| LIO

LI

[ B

3 LIV

, LTI

Question Number : 136 Question Id : 1874635096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia

—



In the Kjeldahl's method of estimation of nitrogen. ammonia gas evolved from 0.3 gof an

1
organic compound was absorbed n 60 mL of *I—DM sulphunc acid. The unused acid

N
required 40 mL of 10 NaOH for complete neutralisation. The weight percentage of nitrogen

i the organic compound 1s

eSS dgonod Berd HEESY, 03 go ¥S BEgo Hod IwIES LIPS

Fodng 60 mL $8S5tSrmo o I_O‘M Soomgls s50d" Flwoe Boded. WEETedR

g
NaOH uidginy@sod, SGR So"gus™d

sio Fim SLREYno Sostrs 40 mL. 5 A

IO B gOTE0

[
VY]
-h|
()
LF ¥

Question Number : 137 Question Id : 1874635097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The species. which is not aromatic 1s

Bod whed, DFSrEE TG D87

Options :

§e
{3

| S
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Question Number : 138 Question Id : 1874635098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ethyne on passing through red hot iron tube at 8§73 K gives a cyclic compound X. In this
reaction the number of nt-bonds lost and number of g-bonds formed are respectively

SP55

-
-

3KS5E AP 5298 38 adHi0 axo Hobd Xed Sooh 330850 6y od.
& ISPt ES *:_\ &

2050 [0y, .-..:5;}..., O - 203'0 Eeua:.é;w STORIT

Options :

33

6,3

-3

Question Number : 139 Question Id : 1874635099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following

A)
B)
C)
D)

Sod

A)
B)
C)
D)

List-1

Metallic solid
Covalent solid
Molecular solid
Tonic solid

SHSTIAR

.-

R
q 8
&

f
i,‘k
oA

. =l e
w0
i

BB IB IO :.‘:az:':;':a"go

E5E00 @éﬁc‘gu

LIS :.“oé:’ac:h"gu

The correct answer 1s

OGS HIrTS0

Options :

A
A

A

=

Question Number : 140 Question Id : 1874635100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

2 L D
I Im N
B € D
B I W
B C€C D
m I I
B C€C D
NV I 1

V)
V)

Single Line Question Option : No Option Orientation : Vertical

List-11

Carbon tetrachlonde
Calcium fluoride
Copper

Silicon carbide
Glass

collegedunia



At T(K), which one of the following pairs of solutions is isotonic?

T(K) 88, §ob 78S° J wob @Saren o A5?

Options :
0.1M urea, 0.2M magnesium chlonde

0.1M cfardasr, 0.2M Brfyabo 08

0.1M urea. 0. 1M sodinm chlonde
0.IM odsrbador, 0.IM ¥F&civo §T&

L=

0.1M potassium chloride, 0.1M sodiumn sulphate
0.1M 2&ricde §25. 0.IM F8odho S8y

0.1M calcium nitrate, 0. 1M sodium sulphate
0.IM s*daizo I FS, 0.1IM dodso ;56.)1!5'

Question Number : 141 Question Id : 1874635101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The mass of sucrose in grams (molar mass of sucrose 1s 342 g mol™) required to be
dissolved in 100 g of water. in order to produce a solution with 104.74°C as the
difference between the boiling point and freezing point is
(K oy = 1 86K kg mol™ and Kym,0) = 051K kg mol™)

EiSS Fo, WAL Fhvw Dy B 104.74°Crr o of (TSl ScirdDabavs
100 g DBS* $BRoSSONE WEE BIgoe rivod® (WE'E Ireb (5502 = 342 gmol ™),
(98 K, = 1.86K kg mol™. K; = 0.51 K kg mol™)

Options :

: 68.4

136.8

| S

5 102.3
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Question Number : 142 Question Id : 1874635102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following statements is not correct?

Bod Jmust & SOGIE TE?

Options :
Rate of a zero order reaction is independent of iitial concentration of the reactant
o) [BArros Sidglia Buiradsso (@ivd mESD BEinEs

O

Half-life period of a first order reaction i1s independent of umtial concentration of the
reactant

HED EBr0E S85 ety swo, Eoresio ([P TEER SEEEE

L

The unit of second order rate constant is mol® L1 s

Gedch [Biro8 $0g wﬂ‘gﬁs@ porofo oS mol2 L s

The moleculanty of a reaction cannot be zero or a fraction

SUs wmd Waym O PHe T Goddrls SENGE

Question Number : 143 Question Id : 1874635103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The standard free energy change for the cell reaction

gy + Cﬁnrt - Zn( ag) T Cll) 15

ag)

§o8 Pobassdge Birm Tgoy 9§ B0y

Znﬁ,-i-Cu“wl —->Zn(_w]+Cu{:ul
(E, ., =—0.76V. E, 1., . =+0.347. 1F =96500 C mol)
Options :
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L

+106.2 kJ mol™

—106.2 kJ mol™!

Question Number : 144 Question Id : 1874635104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Identify the correct statements from the following
I)  Protective power of a Ivophobic colloid is expressed by gold number
II) Haemoglobin is a positively charged sol
II) Metal sols are prepared by peptization process
IV) Colloidal solution and true solution can be distmguished by Tyndall effect

Bol FEGT J0GS IBTdw LTSN

L

]

I) oB»rP0E Torowd @AY, SOIES JerTd) AE Sopgs' Sggo [R

i

d

u

) &5 Fdod DYSR0 T FAFHBRWL
V) Sgond @S0rQ). I@Sdard) Eodrds Soad 07 SIBTHTD

Options :

&IV

&I

[

&IV

i

M&IV

Question Number : 145 Question Id : 1874635105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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From the Ellingham diagram given below. identify the correct statements

I) Below 673K CO can reduce FeO to Fe

Il Above 673K Coke can reduce FeO to Fe

) COis the strong reducing agent for the reduction of ZnO to Zn above 1073K than coke

IV) Coke reducs ZnO to Zn readily at 1673K

Bod albrwdd JOod Lo Hod JSBGLS Tgpgud HBowND

I) 673Ksa 85,5 &Jyid 5@ CO.FeO & Ferr S§r8todhi

I 673K8m) D &S 58 &5, FeO & Ferr KoorgBosod

M) 1073K&x) B &S 58 Zn0Ss Zure goardbostus* CO. 58 $) oo K080
IV) 1673K 35§ §'S, ZnO & Zniv Sodon Soarilodds

AG/K) mol™
of 03

Options :

, LILII
, LILIV
, TILIV only

4 1. T only

Question Number : 146 Question Id : 1874635106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following statements are correct for hydrides of 16® group elements?

I)  Boiling point is highest for water and lowest for hydrogen sulphide

II) Bond dissociation enthalpy 1s highest for water and lowest for hydrogen sulphide
II) Reducing property increases from H,S to H,Te

IV) A H (Enthalpy of formation) 1s more negative for H,O and more positive for H,Te

g 16 Swruse @88 Sopodod 1Bod Fgpgod’ ID $0@ED?

) wrQEss T &8 [f0%0, T8RS :‘&;6‘3550 BQ0

) wod Dietsd Jomrd) HBE Kojo, TS $BYE% €A

M) go5Ese $6e HS Sos HTesh Db

IV) AqH (o038 :.mﬁ‘@_)} H,0 % =& Sardyse. HyTe £ 088 Sogso

Options :

1 L. only

. LILILIV

, ILTLIV only

LIIL IV only

Question Number : 147 Question Id : 1874635107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Chlorine on reaction with excess of amunoma gives nitrogen gas along with a compound X.
X reacts with Ca(OH), and gives Y. a colourless gas with pungent smell. Y on reaction with
excess of chlonne gives Z and HCl. What 1s Z?

§0% ©&8 eTomoirs® SogTol JW e Frainde, Xed S3Hdos augid. Ca(OH),
&' X J0gTod, dolbdd, Bl Fdide Y adyd. Y. vds §058" dogTob HCL
Z o asyse. Za6?

Options :

 NHCI

, NH,

1 E
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3 CaCl2

NCl

Question Number : 148 Question Id : 1874635108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The reaction which does not involve the formation of H;PO, 15

5* H,PO, J8&?

Options :

CH,COOH+PCl, —
1

C‘EH,J-_OH + P(] 3™

b

_ PCL+H,0—

POCl; ~H,0—
4 =

Question Number : 149 Question Id : 1874635109 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is the composition of Ziegler catalyst?

§od THE" D6 446 eFTEo Bk, HoweliSe?

-
i

Options :

PAC];+ Al (CH,),

ZnCl, +Al(CH,),

| O

Ti(CH,),+AICl,

\ TiCl, + Al (CH;),

Question Number : 150 Question Id : 1874635110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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L

A d-block metal M forms two complexes with the formulae MC1,.2HCl and MC1,.2NH,.
When excess of AgNO; solution is added to 1 mole of each complex. AgCl precipitate is
not formed. The secondary valency of metal M in the complexes 1s respectively

@B d-o7§ &0 MCL,2HCL MCL.2NH; s oren fo Jods Sofoss o,
S 56 HogTIE whHE AgNO, TSy EODSSyE AgCl uSESo GBS,

D0Tod” M el 550 Qws), Hioch dodrasd Sham

=

M
1

g

Question Number : 151 Question Id : 1874635111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The monomers used in the formation of Dacron are
I) Glycerol

) Terephthalic acid

) Adipicacd

IV) Ethane-1. 2-diol

BE R WELoS" DAErH0d Jr3'S08)
) ascd

I) BEZOF wiio

I J&%F s

IV) &83-1 284

Options :

1

L

Lo

LTI

Mmiv
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Question Number : 152 Question Id : 1874635112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct statement about the denaturation of a protein is

FES Herd DEodfH Sonododd HOGS S0
Options :
1° and 2° structures of a protein are destroyed but 3° structure remains mftact

@S, 1% 2° ool §'6Nd0b 50 3° oo Berddo 8

2% and 3° structures of a protem are destroyed but 1° structure remains intact

'ES, 2°, 3° Dopmrosh 'S Hod 50 1° doyme @oddo i

L

1= and 3° structures of a protein are destroyed but 2° structure remains intact
@8I, 1°. 3° Yoo §Shdod 0 2° oo Parddo S

i D)
17 and 4° structures of a protein are destroyed but 27 and 3 structures remain intact

@SS, 1° 4° Joywreds §'GhE0d 50 2° 3° o Berddo 59

Question Number : 153 Question Id : 1874635113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the incorrect match from the following

Bud OGS W 28 flodbdw
Options :
Paracetamol -  Non-addictive analgesic

T eliSrd - d:do:-r'gsio SRR ATdHeHE

Valmum - Tranqullizer
3@{3&5} - Lﬂ“ugsgai 4]

L
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Ofloxacin - bactenostatic antibiotic

LIS - ArEEdos A8G0E cirotiadBass
-3 - v -

Novastrol - Antifertility drug

rﬁ‘ﬁtﬂ"é <, I‘id_‘uﬁgﬁg ;33\}&
4 e -

Question Number : 154 Question Id : 1874635114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify X in the reaction given below

Br

-3

o
oF

O,N
4

O;N

Question Number : 155 Question Id : 1874635115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arrange the following alcohols m order of their increasing boiling points.
Pentan-1-0l  Butan-2-ol  Butan-l1-ol  Propan-1-ol Ethanol
1 I I v Vv

B0d wuy Fdoils 8 Hdib Jow IR EIed ehdybe

DobS-1486  argbl-248  argbe-ldd ((FES-14E @IS
1 I m Y v
Options :
V<IM<IV<II<I

l

V<IV<II<II<I

1

V<IV<HOI<I<I

IV<V<HI<I<I

Question Number : 156 Question Id : 1874635116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

N

i Ethyiene Glyrol
R / 2008 i

Identify Y in the above sequence of reactions

R BED JYged" Y & ot

Options :

R-CH-0OH

LJ
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R’—ﬁ—o—x'
0O

R _CHJ "R’
4

Question Number : 157 Question Id : 1874635117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the reacfions I and I1

COCH,
_ KMnOgKOH .  dilHSO;  «-
I A » X > Y
CH,
_ dil KMaO,
M CH,=CH,—= 47

Identify the polymer from the following m which Y and Z are the monomers.

COCH,
D Kbeh(f;; KOH 0 H,50, 5Y
CH3
o KNnO
) CH,=CH,——Fz—>7

ol T8S” Y. Z o IrT DO o FO65 Moo,

Options :

Tervlene
8OO

gcollegeduniaa

—



Nylon 6, 6

; sSow 6.6

Novolac
NS oAl
4

Question Number : 158 Question Id : 1874635118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : -OH group of phenol 1s ortho. para directing in electrophilic substitutions
Reason (R):  -OH group stabilises the arenium ion formed by the ortho. para attack of
the electrophile

S0 (A): JJ:JL%:E.}!DE LéElSnus® S8 B8, -OH 355530 &:5: T JOTED
50dn (R): Jo@‘@tﬁ Sw§, «f, Fo T& Sod ST Jbchdy woirasn -OH

SZarEdn HEBEH08

The correct answer 15
POGLS JSrPEU
Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) Socsn (R) w2 Dode S6G0ED Sobcdn (R) 386 (A) s 50638 A58

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) 6050 (R) eo Bodr 58&HHD 59 (R) 036 (A) § H0G8 JS6m 58

L

(A) 1s correct but (R) 1s not correct

(A) 560586 =2 (R) H630586 5&

(A) 15 not correct but (R) 1s correct

(A) 563356 5% 59 (R) 508086

Question Number : 159 Question Id : 1874635119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
° - India’s largest Student Review Platform

—



Fehling's reagent is a mixture of two solutions of Aand B. What are A. B?

wordofi 57680 A.Bo ¥l (h00. A. B J2?

Options :
A B
[ Az(NH;), | ’ Aqueous CuSQ, solution
-Ag(NH3).,-+ CuSO, 2o ino
1 = -
A B
Aqueous CuSO, solution Alkaline sodmm potassiiun tartarate
CuSO 2o S0 50 Pacho iracio &rgold
A B
NaOH gy + 1, 0;N *@kNH—NHE
NaOH(EB} '!"12 NO,
05N —@;N’H—NHE
05
3
A B
Aqueous NaHCO, solution Neutral FeCl, solution
NaHCO;zomHac &S FeCly @doo
4

Question Number : 160 Question Id : 1874635120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Acid anude on reaction with reagent X' gives a primary anune having one carbon less than
the anude. Identify X' from the following

%!
C

£
t.‘l

oy,
A
T
e

S8, o PR6 DTS 2.
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B

Bty NaOH ) (e0)

NaOH/CaO. A
KMnO,/KOH. A

Pd—BaSO,

gcollegeduniaa
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